
5 + 3 = 8 + 2

2
= −1 

−6 − 2 = 10

5
+ 7 = 11

−5 = 7 + 3 − 6

3
= −4

–

https://whttps://whttps://whttps://www.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.com
WS #1

© https://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.com


